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Fit result: y = -0.0022x + 1.0408
 / NDf = 240.226 / 322χ

Charge normalized DVCS events(LD2) / Mean value

145 < 𝑐𝑙𝑢sT < 155

10 15 20 25 30 35 40
AµBeam Current / 

0.98

0.99

1

1.01

1.02

1.03

1.04

1.05

co
un

ts
 / 

M
ea

n 
va

lu
e

Charge normalized DVCS events(LH2) / Mean value

Fit result: y = -0.0012x + 1.0383
 / NDf = 32.235 / 112χ
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h3/4 charge normalized yield
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DVCS charge normalized yield
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Fit result: y = 958.261
 / NDf = 229.658 / 222χ
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random events removed

dvcs selection: Emax > 2 GeV
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Include col 1-28
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DVCS charge normalized yield
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Fit result: y = -0.0012x + 1.0228
 / NDf = 191.760 / 282χ
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Fit result: y = -0.0007x + 1.0237
 / NDf = 46.912 / 182χ
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h3/4 charge normalized yield
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DVCS charge normalized yield
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Fit result: y = 950.485
 / NDf = 174.189 / 212χ
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